/[2.2]

lﬁnﬁ{d)%%ﬁs‘b (pbe) e ohcTE < &

Dz = A L= Lim /il\
[ /Vkﬂl'

Y71

Croty) P\E)= N(w lAsz,Uj)

(o17) S = (A+ALAT

o 7ode TWNE (n31) . (02.64) £ BEXN'T

[on vy Dl = AL 2l n T)
(1x3t)—"7 &)= /N{#0,1L)

(b)) pa] 2) = N (W] WX ) < Pz

(2.116), (2, 117) &Y

i -
TEC G- (T+ WEW (2 48)
2 482, O fY
E [z1= Gwn “I’:’(P(,, L) o l1264)
ZeA)
g
1 933
#e O ¢ LovaZX
.
= — E E ]) 1 = &
7)) -
vaal holas!
= E, E Y — 1 b IS 7—:
- - N J 1 Jd
P(EIL) 10 P(RINa) P(RNn)
§,77
E!g%—r —@:fEEE—'r:”T‘ ({2.47)
A 1 J C oy
YJEALD) P(HIAn) P(ZNA)




